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Algorithme de résolution d’une équation de 1ére degré : (ax+b=0)

Aga ) o3

Début
Variables a, b, x: Réel
Ecrire (“ Entrera:”)
Lire (a)
Ecrire (“ Entrerb : )
Lire (b)
Si(a#0 ) alors

Si (b=0) alors

Ecrire(“la solution = 0”)
Sinon

Ecrire (“la solution =, -b/a)
Finsi

Sinon
Ecrire (“Erreur”)
Fin Si

Fin

@AUJ,J\
Program equal
Real a,b,x
Print*,’Entrer a:
Read(*,*) a
Print*,”Entrer b : ¢
Read(*,*) b
If (a.NE.O) then
If (b.EQ.O) then
Print*,’la solution = 0’
Else
Print *,’La solution =¢,-b/a
end If
Else
Print*,’Erreur’
End if
End
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————————————n- Program egual
& exol222f Real a,b,x
Print¥*, "Entrer a
Read(*,*) a
Print*, "Entrer b
Read(*,*) b
If (a.NE.0J) then
If (b.EQ.0) then
Print*, 'la solution = 0"
Else
Print *, "La sclution =',-b/fa
end if
El=e
Print*, "Erreur"’
End if
End
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a :
5
Entrer b :
T
La solution = -1.4000000

Entrer : Entrer a
2 8]

Entrer b : Entrer b
0 0]

la solution = 0 Erreur




